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E14g5ana	
  (kl3pi0	
  MC	
  data,	
  no	
  
accidental	
  overlay)	
  	
  

•  Get	
  vertex	
  from	
  kl2pi0	
  
•  Calculate	
  posiCon	
  of	
  1	
  missing	
  gamma	
  
–  I	
  used	
  true	
  MC	
  value.	
  

•  Calculate	
  energy	
  
•  Get	
  invariant	
  mass	
  of	
  6g	
  
•  KinemaCc	
  cut	
  



vtz	
  

Red	
  :	
  MC	
  
Blue	
  :	
  kl2pi0vtz	
  

MC	
  –	
  kl2pi0vtz	
  



Energy	
  of	
  missing	
  gamma	
  

Red	
  :	
  MC	
  
Blue	
  :	
  reconstructed	
  from	
  kl2pi0vtz	
  

Red	
  :	
  MC	
  
Blue	
  :	
  reconstructed	
  from	
  kl2pi0vtz	
  

Before	
  selecCons	
   ANer	
  selecCons	
  



Invariant	
  mass	
  
Before	
  selecCons	
   ANer	
  selecCons	
  



SelecCons	
  (kinemaCc	
  cut)	
  

•  1)	
  vertex	
  cut	
  
•  2)	
  1st	
  chi2	
  of	
  kl2pi0vtz	
  
•  3)	
  2nd	
  chi2	
  of	
  kl2pi0vtz	
  
•  4)	
  KlongPt	
  



2d	
  	
  histograms	
  CutVar	
  vs	
  Mass	
  	
  



Cut	
  power	
  =	
  (MassCut/MassOrig)	
  

VTZ	
  cut	
  
3000<z<5000	
  

1st	
  chi2	
  cut	
  <	
  3	
  

2nd	
  chi2	
  cut	
  >	
  4	
  

KlongPt	
  cut	
  
<	
  20[MeV/c]	
  



data	
  vs	
  MC	
  

•  Incident	
  P.O.T.	
  (data)	
  
– 4.253e15	
  (minimum	
  bias)	
  

•  MC	
  
– Add	
  accidental	
  overlay	
  
– KL	
  default	
  
– 2.778e14	
  P.O.T	
  with	
  (2e14/3.6e7)	
  	
  



Cut	
  Variables	
  

VTZ	
  

Gamma	
  Energy	
  

Pi0	
  vtz	
  –	
  klong	
  vtz	
  (~0)	
  
Klong	
  Pt	
  

1st	
  chi2	
  
2nd	
  chi2	
  

Distances	
  between	
  gammas	
  
Radius	
  of	
  gammas	
  

Blue	
  :	
  data	
  
Red	
  :	
  mc	
  



Cut	
  Variable	
  raCo	
  (MC/run62)	
  
VTZ	
  

Gamma	
  Energy	
  

Pi0	
  vtz	
  –	
  klong	
  vtz	
  (~0)	
  
Klong	
  Pt	
  

1st	
  chi2	
   2nd	
  chi2	
  

Distances	
  between	
  gammas	
  
Radius	
  of	
  gammas	
  



Cut	
  Power	
  (data)	
  

Gamma	
  Energy	
  
10<e<2000	
  [MeV]	
  

VTZ	
  
3000<z<5000	
  [mm]	
  

1st	
  chi2	
  
Chi2<3	
   2nd	
  chi2	
  

chi2>4	
  

Klong	
  Pt	
  
Pt<20	
  [MeV/c]	
   Pi0	
  vtz	
  –	
  klong	
  vtz	
  (~0)	
  

Diff<	
  100	
  [mm]	
  

Distances	
  between	
  gammas	
  
>50	
  [mm]	
  

Radius	
  of	
  gammas	
  
150<r<850[mm]	
  



Cut	
  Power	
  (MC)	
  

Gamma	
  Energy	
  
10<e<2000	
  [MeV]	
  

VTZ	
  
3000<z<5000	
  [mm]	
  

1st	
  chi2	
  
Chi2<3	
   2nd	
  chi2	
  

chi2>4	
  

Klong	
  Pt	
  
Pt<20	
  [MeV/c]	
   Pi0	
  vtz	
  –	
  klong	
  vtz	
  (~0)	
  

Diff<	
  100	
  [mm]	
  

Distances	
  between	
  gammas	
  
>50	
  [mm]	
  

Radius	
  of	
  gammas	
  
150<r<850[mm]	
  



Cut	
  Power	
  raCo	
  (MC/run62)	
  

Gamma	
  Energy	
  
10<e<2000	
  [MeV]	
  

VTZ	
  
3000<z<5000	
  [mm]	
  

1st	
  chi2	
  
Chi2<3	
   2nd	
  chi2	
  

chi2>4	
  

Klong	
  Pt	
  
Pt<20	
  [MeV/c]	
   Pi0	
  vtz	
  –	
  klong	
  vtz	
  (~0)	
  

Diff<	
  100	
  [mm]	
  

Distances	
  between	
  gammas	
  
>50	
  [mm]	
  

Radius	
  of	
  gammas	
  
150<r<850[mm]	
  



KLmass	
  

No	
  cut	
   ANer	
  cut	
  expect	
  Klong	
  Pt	
  cut	
   ANer	
  all	
  cut	
  

Blue	
  :	
  Run62	
  
Red	
  :	
  MC	
  

Run62	
  :	
  29652	
  
MC	
  :	
  37642	
  

Run62	
  :	
  6898	
  
MC	
  :	
  9719	
  

Run62	
  :	
  255	
  
MC	
  :	
  385	
  

0.788	
   0.710	
   0.662	
  

Big	
  discrepancy	
  -­‐>	
  CsI	
  Suppresion?	
  (no	
  suppression	
  on	
  MC,	
  2MeV	
  suppression	
  on	
  Data	
  
	
  thing	
  to	
  check	
  


